
 

 

 
 
     34.  sodium -Na;   beryllium -Be; manganese -Mn;    chromium -Cr;    uranium -U  
 
 
    42.    a. Six;  Be, Mg, Ca, Sr, Ba, Ra    b. Five; 0, S, Se, Te, Po  

             c. Four; Ni, Pd, Pt, Uun     d. Six; He, Ne, Ar, Kr, Xe, Rn  
 
                      42 

44.    a.           Ti:     22 protons, 42-22 = 20 neutrons;  
                   22 
 
       Since the overall charge is neutral then the number of electrons = number  
        of  protons = 22.  

                   64  
           b.         Zn:       30 protons, 34 neutrons, 30 electrons 
                   30  

                    76  
c. Ge:      32 protons, 44 neutrons, 32 electrons  
         32 

                  86  
          d.         Kr:      36 protons, 50 neutrons, 36 electrons  
                  36 
 



 

 

                       75  
         e.          As:        33 protons, 42 neutrons, 33 electrons  
                   33 

                 41  
         f.          K:         19 protons, 22 neutrons, 19 electrons  
                 19 
 
 
 
 

 
 
 
 
58.    The metallic character decreases from left to right. 
 
 
 
62.        a. mercury(I) oxide    b. iron(III) bromide  
             c. cobalt(II) sulfide    d. titanium(IV) chloride  
 
 
66.        a. barium sulfite    b. sodium nitrite  
             c. potassium permanganate   d. potassium dichromate  
 
 
72.       a. SF2    b. SF6    c. NaH2PO4  

      d. Li3N   e. Cr2(CO3)3    f. SnF2  

            g. NH4C2H3O2   h. NH4HSO4   i. Co(NO3)3  

            j. Hg2Cl2; Mercury(I) exists as Hg2
2+ ions.  

            k. KClO3   l. NaH  


